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Qn. 1  
 

Correct Answer: (a) 2 only 

Explanation: 

 Statement 1 is incorrect as the data retention period is up to three years, not five. 

 Statement 2 is correct; significant Data Fiduciaries must ensure specified data is 

processed within India (data localization). 

 Statement 3 is incorrect; Data Fiduciaries must notify individuals 48 hours before erasing 

their data. 

 

Qn.2  

Answer: a) It is a leading cause of respiratory illness in children and immunocompromised 

adults. 

Explanation: 

 Statement 1 is incorrect because HMPV primarily causes respiratory infections, not 

gastrointestinal ones. 

 Statement 2 is correct. HMPV is a major cause of upper and lower respiratory tract 

infections, especially in young children, elderly individuals, and those with weakened 

immune systems. 

 Statement 3 is incorrect. HMPV is transmitted through respiratory droplets via close 

human contact, not through water droplets. 
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Qn. 3 

Answer: b)  

Explanation: 

 1 is correct because UDISE+ collects detailed data about schools, teachers, students, and 

infrastructure across the country, including government and private institutions. 

 2 is correct because the purpose of UDISE+ is to enhance educational planning and 

governance by generating accurate and reliable data, thus enabling evidence-based 

decision-making. 

 3  is incorrect because UDISE+ includes data from both government and private schools. 

 Qn. 4  

Answer: a) 2 and 3 only 

Explanation: 

 The Tsangpo Dam is not on the Brahmaputra River in India, but rather on the Yarlung 

Tsangpo River, which flows through Tibet (China). 

 The dam is primarily proposed for hydropower generation. 

 Therefore, Statement 2 and Statement 3 are correct, but Statement 1 is incorrect. 

 

Qn. 5 
 

Correct Answer: d) 1, 2, and 3 

Explanation: 

 Statement 1 is correct because Gujarat and Tamil Nadu are indeed listed under the 

Achievers category in the Coastal Group. 

 Statement 2 is correct because Bihar and Madhya Pradesh are indeed Fast Movers in the 

Landlocked Group. 

 Statement 3 is correct because Manipur is listed as an Aspirer in the North-Eastern 

Group. 

 


